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6.3 Antidifferentiation by Parts

Formula

The idea is to make the solving the integral easier. If it
looks like its getting messier — try something else or
change the substitution. PRACTICE is the key here. This
helps you to recognize different types of substitution.

Ex. 1 Evaluate [xcos(S5x-1)dx jw" W‘SVM

u_* u= % V= 'SLS;-(‘CSX- \)
d=dx dv= cos(S<-)dx

_SXCOS(S;&-\MX = éXSCn(Sx-\)‘é sn’.n(Sx-l)d;t

= s'-XSCn(Sx-\) "’2—'5: cos(Sx-v) +C
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Ex. 2 Evaluate [x’cos2xdx
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Ex. 3 Solve the DE % = xIn x with IC’s y=-1 when x=1.

2
2) = A%

:in'n !
2 X'ESxo\x
—
kj le‘ﬂk—éxl_(_c
- - L
a2 &) -y
—3 9
“ z ¢

— L A T R |
B‘ZX ‘ﬂX"é‘_x-’q

LQ)“A:\(‘X :}?7\Z

A = ;LO\N dv= >xdx

Oct 17-12:32 PM



6.3 Int by parts comp.notebook October 25, 2019

-
CALEULUS BE

Solving for an Unknown intergal - | really like this one :)

Ex. 4 Solve Ie’cosxdx let w= ¢ v- sex
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Tabular Integration
We can use this method when the integral is in the form

[f(x)g(x)dx and repeated differentiation would result in f(x)
becoming zero.

Ex. 5 Evaluate [x’cosdxdx
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Ex. 6 Find [Inxdx
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